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ORIENTATION: Introducing 

Simmonds and Ross, and 

establishing their relationship. 

The Removalists: narrative/dramatic structure 

COMPLICATION/RISING ACTION: 

Kate and Fiona appear. Plot 

commences (Fiona wants 

assistance with moving out of 

flat). 

MINOR DENOUEMENT/END 

OF ACT ONE: Real 

motivations of Simmonds 

revealed (ie. sex). 

COMPLICATION: Kenny 

comes home unexpectedly. 

RISING ACTION/COMPLICATION: 

Simmonds and Ross arrive, with a 

removalist. 

MINOR RESOLUTION: 

Ross thinks he’s killed 

Kenny. 

MAJOR RESOLUTION: Kenny 

actually dies. 

DENOUEMENT: the two policemen fight in a manner 

suggesting a ‘frenzied ritual of exorcism’ (p.96). 

(Is this a satisfactory resolution? Why/Why not?  


